t28_wsierp_1
(TMGIRAfGFIWHI1r1e5Tdal TuAXUWoJDbTfdv)

October 27, 2020

Let vl.int_1 : t=>0 be given. Let k3_int_2 : t=-1=>¢ be given. Let k2_xcmplz_0 :
t=>t= be given. Let k3_zcmplx 0 : t=>1=- be given. Let vl_zemplz 0 : 1=0
be given. Let vl_xreal_0 : t=-0 be given. Assume the following.

VX0.(v1int1 X0)=(VX L (vl int.1 X1)=(3X2.
(vlsint1 X2)A(3X3.(vlintl X3)A(k3-int2 X0 X1 = k2_xemplz 0 (1)
(k3_xemplz 0 X2 X0) (k3_xemplz 0 X3 X1)))))

Assume the following.

VX0.VX1.((vl_zemplz 0 X0)A(vl_xempler 0 X1))=( @)
k3_zemple 0 X0 X1 = k3_zemplz_0 X1 X0)

Assume the following.
VX0.(vl_zreal 0 X0)=(vl_rcmplz 0 XO0) (3)

Assume the following.
VX0.(vlsnt-1 X0)=(vl_zreal 0 X0) (4)

Theorem 1

VX0.(vlint.1 X0)=(VX1.(vlint-1 X1)=(3IX2.
(visint.1 X2)A(3X3.(vlknt-1 X3)A(k3-int2 X0 X1 = k2_zcmplx_0
(k3_xemplz 0 X0 X2) (k3_xemplz 0 X1 X3)))))



